H £ O & A &

g Al A

0243 20ilat LE JIEIS 82, SIIESEH A2l =Xt
FA SIS
HH: Lol=X|SH
ol RdE2Rd X2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 148,715,164 136,773,552 11,941,612
= 80,769,462
[ 4,025,187
Il 1,298,681
< 17,570,792
= 44,540,032
= 511,010
el NEFS! 103,263,018 92,228,665 11,034,353
= 64,888,307
[ 2,456,008
= 8,019,384
[Ea 27,613,789
= 285,530
CeMEEE T 84,472,444 74,864,758 9,607,686
= 64,401,016
[ 2,449,564
= 2,543,378
o 14,792,956
= 285,530
AMNEI=X BEXIE 20,324 24,780 A4,45%6
201 2egh=3| 4,000 5,500 21,500
01 At2t2ltl 4,000 5,500 21,500
OLQ=NAIHY S22 M
4,000,000 4,000
202 04t 13,824 17,280 N\3,45%6
01 =LHOHI 13,824 17,280 A3,456
O gFF4 Ol
13,824,000 13,824
203 =] 2,500 2,000 500
03 A=A 2= 2,500 2,000 500
OAt2IS XIS AIZ=EIH|
2,500,000& 2,500
COISAESKIE 12,600 12,600
307 elzto| & 12,600 12,600
11 AMEISXAEEXS 12,600 12,600
OLQISAZ S XNEA 12,600,000& 12,600
COIMEE AR 110,000 110,000
301 EtE NS 110,000 110,000
02 ANBI2HHSFS(HAAS, NLHE) 110,000 110,000
OB5AMI Ol FHete ol A2 285 XIE
110,000,000 110,000
colthst 29 23,600 23,600 0
307 elztol & 23,600 23,600




FA SIS
MM Lol=X| =X
el 4228 13 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 23,600 23,600 0
okoltisr 28X 23,600,000 23,600
ABIIRM X 7,000 7,000
307 el2to| & 7,000 7,000
1 AMEISXAIEEXS 7,000 7,000
O&AHIIRM K& 7,000,000& 7,000
DIESSS 63,251,161 58,631,631 4,619,530
= 56,926,045
= 1,265,023
Ea 5,060,093
301 EtE2 NS 63,251,161 58,631,631 4,619,530
= 56,926,045
= 1,265,023
= 5,060,093
01 Al EE A ZS(2DEXMR) 63,251,161 58,631,631 4,619,530
OJlz=¢=3 63,251,161,000& 63,251,161
= 56,926,045
< 1,265,023
s 5,060,093
2AE REsAAY 93,340 91,780 1,560
301 EtE N = 93,340 91,780 1,560
02 A2 X LGS (FHAAHS, NLWE) 93,340 91,780 1,560
OZzAg REaAAMY 93,340,000& 93,340
NASHIHo L AABHE AL 252,400 252,400 0
301 EetE2 NS 252,400 252,400
02 ANRI2HHSFS(HAAS, NLHE) 252,400 252,400
OMASTHIEQl AAHHE ALY
252,400,000 252,400
ool AL K& 128,950 128,950
201 er23 | 3,950 3,950
01 At2teltl 3,950 3,950
OO0l 82 &2
50,0003 = 90H 450
OL=NFESA 2 M
100,000& = 35& 3,500
307 212t01& 125,000 125,000
11 MEIEXAEE 125,000 125,000
OOIHOIL>AL XIZ (9 EH)
125,000,000 125,000
ooy ALK 18,000 18,000
201 er2 3| 3,000 3,000
01 AtR2telHl 3,000 3,000




FA SIS
M Lol=X =X
Hel: LSMEEE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Okelold At HEI K=
100,000& * 30H 3,000
307 gl2to| & 15,000 15,000
1 AMISXAIEEXS 15,000 15,000
Okolold At X1 15,000,000 15,000
HOIEEU=l XI& 6,000 12,000 26,000
307 212+01& 6,000 12,000 26,000
11 AMRISXAEEES 6,000 12,000 26,000
Ow0l3l X3EI| HOIES (3l
6,000,000 6,000
SN - Hfel SsSHEtAEIA 2 167,867 146,767 21,100
= 82,734
< 16,547
T 66,186
= 2,400
307 @120l & 167,867 146,767 21,100
[ 82,734
= 16,547
o 66,186
= 2,400
05 2ItRIE = 167,867 146,767 21,100
O=HEQl - Z0ie SsSHEAtAMEIA 2
g 167,867,000 167,867
= 82,734
== 16,547
[Ea 66,186
= 2,400
LOIESESAHIA 3,664,320 2,818,410 845,910
[ 2,366,830
= 304,310
Ea 710,050
= 283,130
307 elztol & 3,664,320 2,818,410 845,910
s 2,366,830
== 304,310
o 710,050
= 283,130
05 212t =S 3,664,320 2,818,410 845,910
O oI¥E=SSAHIA 3,381, 190,000 3,381,190
[ 2,366,830
= 304,310
= 710,050
OLolESsSAHHIA 2EHI(2Hl FIH=2)
283,130,000 283,130
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FA SIS
Hm: Lol=X|SX
Hel: LSMEEE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| % 283,130
Colginiel & ASIES KIZAIG(EX) 14,949,942 10,685,382 4,264,560
= 7,474,971
= 747,498
Ea 6,727,473
307 gl2to| & 14,949,942 10,685,382 4,264,560
= 7,474,971
= 747,498
= 6,727,473
05 2I2HRIE S 14,949,942 10,685,382 4,264,560
os9¥ 9,985,310,000& 9,985,310
= 4,992,655
< 499,266
s 4,493,389
OAtg| MHIAE 3,664,912,000& 3,664,912
= 1,832,45%
< 183,246
= 1,649,210
OANEE 437,880,000& 437,880
= 218,940
< 21,894
= 197,046
OFlgadd 33,600,000& 33,600
= 16,800
[ 1,680
T 15,120
O==gJ2 Mgl 828,240,000 828,240
= 414,120
[ 41,412
Ea 372,708
Lolgintel o AlSIEE XA (SEELI) 320,000 320,000 0
307 elztol & 320,000 320,000
05 21t =S 320,000 320,000
ool & Atelgs XM (S48
Xtel) 320,000,000 320,000
ALIGIZEE 29 539,744 438,248 101,49
307 @12t01 & 539,744 438,248 101,49
05 eit?(& = 539,744 438,248 101,496
OZALRL 2124 460,320,000 460,320
OJ12 24| 79,424,000 79,424
SHEH ALY 1,800 3,000 21,200
301 EtE NS 1,800 3,000 21,200
14 IIEt2 83 1,800 3,000 1,200




FA SIS
Hm: Lol=X|SX
ol RdE2Rd X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Os#+g xa 1,800,000 1,800
e Hels K 150,000 150,000
301 EtE2 N = 150,000 150,000
14 JIEt 23 150,000 150,000
Ostd&eis K& 150,000,000 150,000
SREE A FHA HAXZ ALY 55,3% 48,417 6,979
308 AtXIEHMSOIE 55,39%6 48,417 6,979
13 S [2SOHe & EAS A 55,3% 48,417 6,979
OZREES AMAHAT HAXHAIS
55,3%,000& 55,3%
E5E 2 ES S 700,000 0 700,000
= 210,000
o 490,000
307 el2tol & 700,000 0 700,000
= 210,000
o 490,000
1 AMEISXAIEEXS 700,000 0 700,000
O&SE t2d=3 St
700,000,000 700,000
== 210,000
[Ea 490,000
COISTIAE 28 & 2l 18,790,574 17,363,907 1,426,667
= 487,291
[ 6,444
= 5,476,006
Ea 12,820,833
o=k 24 1,626,221 832,308 793,913
307 gl2to| & 1,536,421 796,474 739,947
05 212t =S 1,536,421 796,474 739,947
OSdz =2 SAAF 2121]
593,580,000 593,580
Osdz2el=A2 2gH|
260,090,000 260,090
Ot A2 SAHL 2121H]
404,573,000 404,573
Ot =k 223l 278,178,000& 278,178
401 AIEHIZ SR HYI 80,000 13,946 66,054
01 Al&HI 80,000 13,946 66,054
OSE2=A2 JIsELAME
80,000,000 80,000
405 AHatE = 9,800 21,888 12,088
01 MMM ESFSHI 9,800 21,888 12,088
Ostd =R =250 28 7
9,800,000& 9,800
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2A:

X XH -
o=

Ar2l = X 2t

ESSIE-INEFS]

2ol I=SXAE 28 E 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LoIXZAIE 2 X (HEAY) 1,098,591 975,029 123,562

= 867,887
= 230,704
307 el2to| & 1,098,591 975,029 123,562
= 867,887
[Ea 230,704
10 AlISAAZEE 22X 1,098,591 975,029 123,562
oz Ald 23l X3
1,008,591,000& 1,098,591
== 867,887
[Ea 230,704
Mot eISXIAIE 2 X 126,190 412,194 286,004
307 lztol & 126,190 412,194 286,004
10 Al SXAIEEHE2EHI 22X 126,190 412,194 A\286,004
OSEZSE=SAN2HH SAHL 12|
72,578,000& 72,578
Osd=SE=sSA2dH 28|
53,612,0002 53,612
SORIIE AESH XA 8,414,168 9,601,096 1,186,928
< 4,207,084
= 4,207,084
301 EtE NS 8,414,168 9,601,096 1,186,928
= 4,207,084
= 4,207,084
02 ALRI2EH G (FHAAHS, NSWE) 8,414,168 9,601,096 1,186,928
LOIEIIRYIIE AIE2H A
8,414,168,000& 8,414,168
= 4,207,084
o 4,207,084
LOEIIQIE MIEH X 2,592,972 1,357,872 1,235,100
301 2= 2,592,972 1,357,872 1,235,100
02 MBI 2HHSFHS(FHAANS, KLHE) 2,592,972 1,357,872 1,235,100
OLIINQINI2 MIt=E0 NE
2,592,972,000& 2,592,972
d2g K& 678,099 698,273 A20,174
101 @124H| 4,680 3.120 1,560
MU IIRINZZE2NSES 4,680 3,120 1,560
Osds U222 a4 dc|
520,0008 = Qi 4,680
201 et 3| 3,000 3,000
01 At22t2l] 1,800 1,800
Olad o323 ATALEH
1,800,000 1,800
2 s5=4g4l 1,200 1,200 0




2A:

Ar2l = X 2t

Hm: Lol=X|SX
2ol I=SXAE 28 E 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O84dE ozzd ot &l 223
100,000& = 123 1,200
307 gl2to| & 146,551 138,840 7,71
02 2B YA AR A 86, 141 85,930 21
OFRY F4I| MY
86,140,220 86,141
06 2= 20,400 20,350 50
Ogdzg 282 50,0002 * 40814 20,400
11 AMEISXAEEES 40,010 32,560 7,450
ORY YALSAIY
40,0003 * 408014 * 23 32,640
OFRY MK SLNS Algl
7,370,000 7,370
401 AIEHIZ SR 0HYI 53,100 49,880 3,220
01 Al&H| 53,100 49,880 3,220
Ogdzg e+ 53,100,000 53,100
402 QI2F X201 & 470,768 503,433 A32,665
01 QI X2 AL E A (KHHITHR) 470,768 503,433 N\32,665
OB =g A3 A 470,768
b= 190,000,000 190,000
== 180,768,000 180,768
-2USHES 100,000,000 100,000
d2g XEE JHIEY AL 250,000 250,000 0
402 QI”F X201 & 250,000 250,000
01 QI X2 AL E A (KEHITHR) 250,000 250,000
O3=2E XEE 2T
250,000,000 250,000
d2Y 29| XA (XHA) 541,600 543,800 2,200
301 EtE NS 541,600 543,800 2,200
02 ANRI2HHSFS(HAAS, NLHE) 541,600 543,800 A2,200
O3dzg 244l X 541,600,000& 541,600
ZJ2Y HgH (2=2H]) X 974,582 734,340 240,242
= 487,291
=S 146,187
s 341,104
301 Eet2 NS 129,300 119,598 9,702
= 64,650
= 19,395
Ea 45,255
01 Al EE A S (2 RDEEA) 129,300 119,598 9,702
O3dzg &=l A& 129,300,000 129,300
= 64,650
= 19,395




FA SIS
M Lol=X =X
el LOI=RIAIE 29 U 21 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 45,255
307 21201 & 845,282 614,742 230,540
= 422,641
= 126,792
Ea 295,849
10 Al SXAAEEHE 22X 845,282 614,742 230,540
OZ=g 4l Xa 845,282,000 845,282
= 422,641
= 126,792
= 295,849
2 0123 2AF XA 518,037 506,569 11,468
=S 185,411
s 362,626
307 21201 & 518,037 506,569 11,468
== 185,411
[Ea 362,626
11 AMEISXAEEES 518,037 506,569 11,468
OB 2 HIIE3t 2AF XIZ A
518,037,000 518,037
= 155,411
= 362,626
dedeg 8508 X3 76,098 74,014 2,084
= 16,219
o 60,879
307 @I2t0| & 76,098 74,014 2,084
== 16,219
o 60,879
11 AMRISXAEEES 76,098 74,014 2,084
OZd2g =3 Zz8 2e|eed X
76,008,000 76,098
= 15,219
= 60,879
Ueteolel sdzZXa 29 455,600 352,901 102,699
307 el2to| & 391,642 333,901 57,741
10 AlISXAAEEHE 22X 132,322 122,821 9,501
Olgt=2ls s4=Xz 2SI
132,322,000 132,322
11 AMRISXAEEES 259,320 211,080 48,240
OZZ2EHEXEsHl X
259,320,000 259,320
402 QI2F X201 & 63,958 19,000 44,958
01 QI X2 AL EE (KEHITHE) 63,958 19,000 44,958
Olet=0ls sS4zl ZHI22 A&
63,958,000 63,958
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FA SIS
M Lol=X =X
el LOI=RIAIE 29 U 21 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
st 2l AIZRIE AIR= 2S X 33,453 31,621 1,832
= 6,690
= 26,763
307 el2to| & 33,453 31,621 1,832
= 6,690
[Ea 26,763
10 AlISAAZEE 22X 33,453 31,621 1,832
OUist-0l3l SHZXE P2 2AT
33,463,000& 33,453
== 6.690
[Ea 26,763
FZ2ERI2I0IAHS 224,640 249,600 A24,960
= 67,392
= 157,248
307 elztol & 224,640 249,600 A24,960
= 67,392
o 157,248
1 AMISXAIEEXS 224,640 249,600 A\24,960
OZRLXII0IA(SRS)
9,720,000& 9,720
= 2,916
2 6,804
ORRYNINDIANL(OI2BRE)
214,920,000 214,920
= 64,476
o 150,444
ded =29 N3 35,250 36,410 21,160
=S 5,625
s 29,625
307 21201 & 35,250 36,410 1,160
< 5,625
[Ea 29,625
11 AMEISXAEEES 35,250 36,410 A1,160
OZrg e 2= X
28,490,000 28,490
= 4,273
= 24,217
Odz<ald Wsdl XN 6,760,000& 6,760
=S 1,352
s 5,408
dallz #=s SESI(ZZ2Y 83 Hd) 757,425 486,000 271,425
402 212 X201 & 757,425 486,000 271,425
01 QIIN A EZ (XM THR) 757,425 486,000 271,425




SA: AR =X

M Lol=X| S

B9 LO=XAE 29 & B g
SA - BH - () - NSAY - BAS ofl v A 2
04 Aolel B2 2+
15,000,000& 15,000
O=g FHzel 225 32d 41
35,000,000& 35,000
Oz3g =322 22 e|2ed
20,000,000& 20,000
032 242l A=Y 22u
43,000,000 43,000
O20! Z0i22l 22E B &X
70,000,000& 70,000
O20] ZF0l1el 222 B X
34,000,000 34,000
OA01 Z01121(84) 222 BEY 4%
33,000,000 33,000
O401 Z01121(All) 222 BEY 41
33,000,000& 33,000
On o A2y WEY 41
35,000,000 35,000
OYs 2412l d=2Y B
100,000, 000& 100,000
Ods =812l 329 B+
22,000,000& 22,000
Olix U312l Z22Y B+ ¢ ZEY 4X
55,665,000& 55,665
OUi4 ==E{2el Z22Y B &X
34,760,000 34,760
Odty Ax22| d2Y 55
100,000,000& 100,000
OdtY ®E3e| 329 2+
50,000,000& 50,000
OM= gee| 2 B4
9,000,000& 9,000
022 AR T2 P4
68,000,000& 68,000
IR |2 BIIAE AX] ALY 12,883 12,888
s 6,444
& 4,511
i 1,933
402 SI2HR=0lH 12,888 12,888
s 6,444
& 4,511
i 1,933
02 QIZERH2 A 2 (01 & TH &) 12,888 12,888
OFINLQAD|2 2IIAE EX AL
12,888,000& 12,888
s 6,444
& 4,511
= 1,933
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SA: AR =X

g Hd=A8T

=t HE=X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SIIgte B =2
150,000& * 128 1,800
-S| BAE 30,0002 = 104 122 360
OggA=HI 80,0008 = 122 960
2 S52g4l 27,250 23,774 3.476
OoNIIR3 500,000& = 12& 6,000
OA NS 2] 50,0002 * 12 50
oA =Y 1,500,000& 1,500
O0dsl2 A== 15,000,000& 15,000
OSBHAIAH 350,000 = 128 4,200
Odares 500,000 500
SS0HLUEM(ZE0E )2 31,269 47,100 15,831
= 9,381
Ea 21,888
101 @12A4H| 31,269 47,100 15,831
=S 9,381
s 21,888
04 JIZtN2Z2XNSE+ 31,269 47,100 A15,831
Os=odam(dacel Ad) 29
31,269,000 31,269
[ 9,381
T 21,888
eSS EL 216,39 172,790 43,604
Jl 108,197
[ 54,099
T 54,098
307 glztol & 216,3% 172,790 43,604
Il 108,197
s 54,099
s 54,098
10 Al2ISTIAEEE2HIEX 216,3% 172,790 43,604
Oud==0isSeades 29
216,394,000 216,3%
Jl 108,197
=S 54,099
s 54,098
IHEEAMEAL SAHA Sel= 4] 6,000 6,000 0
307 elztol & 6,000 6,000
10 Al2ISTIAIEEE 22X 6,000 6,000
OJIE=gaga SN Sel=dd|
100,000 = 5% = 123 6,000
JHEZHIIch A 2| =H| 3,000 1,883 1,117
) 2,100
& 450




SA: AR =X
g Hd=A8T

el H4=X CERE)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

H

450

307 212+01& 3,000 1,883 1,117
2,100
450
450

S

M H

11 AR S XA E X 3,000 1,883 1,117

3,000,000 3,000
2,100
450
450

S

H

ZHUloH KZAE SAL MR 38,310 6,000 32,310
11,493
26,817

EUNGE

307 212+01™ 38,310 6,000 32,310
11,493
26,817

M

10 Al SXAIEEHE2EHI2X 38,310 6,000 32,310
O==lloll XNFAE SAA MRS

38,310,000 38,310
11,493
26,817

A H

O

0x
J

Aokt =X 1,000 917 83
300
700

UMY

307 212+01™ 1,000 917 83
300
700

M

11 ARIEXAIEE X 1,000 917 83
O Z=ToHAt 2ISKI&A

1,000,000& 1,000
300
700

M H

g g XN 15,000 15,000 0
4,500
10,500

UMY

307 212+01& 15,000 15,000 0
4,500
10,500

Mo

11 AR SXAIEE X 15,000 15,000 0

15,000,000& 15,000
4,500
10,500

A H




SA: ASI=XID
33 od=Nsd
el HE =R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e FHAXN2HEH 2 53,884 48,780 5,104
= 16,166
= 37,718
307 el2to| & 53,884 48,780 5,104
= 16,166
[Ea 37,718
10 AlISAAZEE 22X 53,884 48,780 5,104
OWdH:EXNEHH 24 53,884,000 53,884
s 16,166
s 37,718
e HSXHHE 22 X2 (XEA) 1,560 1,560
307 glztol & 1,560 1,560
11 AMEISXIAEEES 1,560 1,560
O0d FAXNZHEH Hates X
130,000& = 123 1,560
OLOIES XA 816,738 517,976 298,762
= 571,716
S 73,507
= 171,515
301 EtE NS 450,000 280,000 170,000
= 315,000
[ 40,500
Ea 94,500
01 AR 2EHSHS(RNEERTH) 450,000 280,000 170,000
OotoISEXNA(FUHSIHE)
450,000,000 450,000
= 315,000
< 40,500
[Ea 94,500
307 glztol & 366,738 237,976 128,762
= 256,716
== 33,007
[Ea 77,015
05 2ItRIE = 366,738 237,976 128,762
OO0IoI =SS XIS AL 366,738,000 366,738
= 256,716
=S 33,007
s 77,015
od=X X 51,080 52,060 A980
201 2egh=3| 5,720 6,700 A980
01 At2t2lt] 5,720 6,700 2980
OZ0ly S DT ALY
1,360,000 * 23 2,720
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SA: AR =X
Hd=X
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T EH
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oF
uJ

(GEEIN

=aak

-

KIO

Hlw

1,500
1,500

A24,000

A500
A500

MEE
Ofl &k2h

6,960
6,960

38,400

38,400

20,400
18,000

120,900

2,400

1,500
1,200
1,200

13,300

11,800

Ofl &F2H

1,000
2,000
6,960
6,960
5,760

1,200
38,400
38,400
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